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~ ifif 'l1'f <fl'IT M ~ ~ t 'l1'f t -.ft'i! ifif "" ¢ mm = 221 
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9 ~, 3l(f: ~ Sl<tRl<il' coT ~ 9-3 = 6 ~I == 42- 15 

92. (b) 93 . (a) 94. (b) 95 . (d) == 27 
96. (a) m;rrqif ch't ~ x~ 104_(c) m;rr ~ ch't ~ 6x, ~ 5x ·o'm ~ 4x~ 

oaf 4x = 4a + 8 oaf 2 (lb+ bh + /h) == 5328 q7f ~ . 

4a+8 
x= --=a+2 

4 

oaf ~ = x2 = (a+ 2)2 
= a2 + 4a + 4 
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98· (a) 0.0082 = X 

547527 X 10000 
=x 

82 x 1000 

99. (c) lfRT cfilUT ~ t 
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74x = 2664 
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8cftf~=2x 

16 qff~=3x 

24 qff ~ = 4x 

24cftf ~4 "TTT m;r "91:1 
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119.(d) A ch't 3W3; = 6x 

B ~ 3W3; = 5x 

~ 6x + 5x = 44 

44 
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